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[N.B. 1. Answer any fifteen Question? under part-A. ALl questions
stio

carry equal marks (1
15 = o
2. Answer all questj X2 = two sub-divisions from

o an :
each question Unc?:'r cggfts-ig? ALl questions carry equal

mClrkS.(S X 14 = 70) (? R T)]
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Quoud. (15 x 2 = 30). - OmsarH Bl
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PART- A =

1. ifa= (156 125),andB= (i 2) find34 + 2B.

5 2 oy 5 e
B (16 15)’1'0!1)@"[J 8= 4 é) steoflsn, 3A + 2B—s6ur wEHUMUS &I,

2. Find the value of 'x’ if |3 3 =o.
4 x
|i i| — 0 ereafléd, "X/ —6i1 LAIDUS sreiTe.

1 -1 1
3. Find the co-factor of 2’ in (2 3 _3)
6 -2 -1

1 -1 1
(2 3 —3) steorm  oyewfluflsd 2" —sir @lemsor smyemilemius & evor(BHllip.
6 -2 -1 ' ’

4. Find the inverse matrix of (_54 g)

_54 g)“fﬂ Criwng oysooflsmiud &6 .
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11.

12.

13,

14,

15.
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Write any two characteristics (o] e fuﬂcuon Y = cos x
. ;B I 17 61 .

Y = COSX §TeU1m enillsar ﬂ(:@@]w @ al ‘ﬂﬂJUlﬂlusiJumsmm TGO,

Find the value of sin40° cos20” + Cos4ge g o, 0

sin40° cos20° + cos40° sin20° 607 WSl iey 5 ST6T0T 5.

If tanA = % find tan 2A4.

tanA = gsrsnﬂsi), tan 24 -si1 LHUDLS, S
If@=5T+2/—3k and b = =31~ 2] + 5K, find 25 4 ¢
a=51+2]=3k wpmd b=-31-27+5F oa0 og + 6b-6ir
SITETTS. '

Find the direction cosines of vector T+ 37— 3%

7+ 3] — 3k stsitm QeudLiflssr Sleng Clsmenesiresmers; SITCTITS.
Find the projection of 2i + J — 2% on 7 — 2] -2k

[— 2] — 2k —eir Bgy) 2T+ j — 2% -sir efipemey smesores.

Find (i) k.7 (i) K x T

() k.7 (i) K X T -6ir wllimemsrs smesore.

Calculate the arithmetic mean of 14, 26,28,20,35 and 33

14, 26, 28, 20, 35 LOMMILD 33y Slwsummlstr & Harnaflemu srsvsss.

wdHlsous

If the arithmetic mean of 10 numbers is 30, find the total of the

numbers.
10 sersmmaafleaor sl @&eqrafl 30  srenfley,
& _(H50smemssmiu Sevor(Hlg.

If the standard deviation of a data is 8, find its variance.

Ihg semaaflen Qurés

@ srallar HL aloussln 8 srerfls, oi@sT alleds ufsHs sqner &IT 6007 5.
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19.

20.
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Write down the normal “Quationg 4 fit o straight Line y = ax + b
o fit :

.. . e .
y = ax + b eream CndCany 4, ! ; y e DeETLIT (D anament sTap oo
P Cn i g s S

A card is picked randomly f > cards. Find the probability
of getting a card of king, Y 'rom q paek of 52

52 eun'an Qansazie o0 & mﬁ.tyb&“)'."")’ fipm  @sopulleén  cpensTa
-‘ . - . Al . - J b, . v
st L. SUD ey ~ . . ‘ .
ahes ® e, @&rbUUaﬁm.mm qpe&gpg,esnﬁ\mm &,01 6237 6.

A die is rolled once. Find the Probability of getting a prime number.

SG LSEL O PN 2 @ (np Curgy, e sTeT s iugnanst Hepsssoans
STENE.

If A and B are two -events such e dpr = 0.62 find
2 = that P(4A) = 0.35 an (B) .62, fin
P(4) and P(B) at P(4)

A wod B s1eTn Qe ® Hegayesnia, P(A) = 0.35 wimb P(B) = 0.62 siafls,
P(A) wpmio P(B) —sit u@iyssoans, srenre.

, P(B)=§ond P(Ang):%,

tad | =

If A and B are two events such that P(A) =
find P(A/B) and P(B/A)

3 . .
7 Lodmu

A udpd B adm @QremE  Degaussis, P(A) =3, P(B) =1
P(AN B) =§ steellsn, P(A/B) wihmid P(B/A) eneors.

PART- B / ugél—a

1 2 0

1 2 2 1 0 2
21. (@) Verify (AB)T = BTAT ifA=(2 1 2) and8=(0 1 z)

AT |

1 2 2 1 0 2
A=12 1 2) womw B = (0 1 2) steoflsy, (AB)T = BT ATersmusms
2 2 1 1 2 0

agflunias,.

(b) Solve the system of equations using Cramer's rule.
3x+y—-2z=2 2x—y+22=6 2x+y-—2z=

to

gmofleir oS @linng, Fpmedorn. owsstun@amsner $ii .
3x+y-z=2 2x=y+22=6 2x+y-2:
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(c)

22. (a)
(b)
(c)
23. (a)
(b)
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~4 .

ma“ 0 I [, )

Find the inverse
~1

2 ﬂﬂuﬂe"l [
r4 " J o)
) §163710 L ""lmn“
, -

1 -1
4 0 6
S "."'*cﬁl,p” 4 ”
0 1 __,l T, paTeesT s,

\

he values of Othe

= i, then ﬂnd t r i
5 five trigonometric ratios.

If cos ¥
3 . . 7 &0
cosf = ;5755“5‘-1. oD opd @ oa’"“”h’;‘:ms’u 54 g &
i . AL S T3 A 13|65 6061T &
o cir_BAALD. grisoeflenm  WH

¢ A and B are acuté angles such thgt .. ) .
! 171 tsing = — and sin B =13 then

prove that sin(A+B) = 2z1

. ConeTmeeflsT, sing =% . . 5 .
whmus sinB =73 sTeuflen,

A wim B @o™ a
1

hat sin A+sin 2A ¢
= ta
Prove tha 14+cos A+COS 2A A,

sin A+sin 2A tan A sTe P
= ta
1+cos A+cos 2A Q.

Show that the points with position vectors 57 + 6f + 7k, 61+ 7] + sk

and 77 + 5] + 6k form an equilateral triangle.

57+ 6] + 7k, 61+ 7]+ 5k wdmud 71+5]+ 6k oyélu oo QeudLijsmsn
Qe neaL UsTefl &6 Q) FLUGSE Llpé,@&rrsmésmg) SO T8 HTL(E.
Show that the vectors 2i+2j+k (=24 2k and 2i—j—2k are
mutually perpendicular.

204 2j+ K, I=2/+2k wpgp 2~ j-2k  pfu Qeubcis
smsQansm Qoneganamey 6160 VRIS
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(©) Find the qreq

vectors a . t)
e [E T e triay, d by the points whose
(+3)+ 2k, 2; 2k, 5. Ile forme€ Y -

QamesIL g ; + i i 2+ 3k
1 oif) oy ,
a6 By . Bong, O _p 4 2f + 3K
(O g, -

~5.

position

o fflemen (ATY, PO R

M;r’nﬁimmcm {;,{i,h.'r.x LTI 623610

24, (a) Find the c:lrit:hmetic

€an for the following data.

——

40-50 | 50-60 | 60-70

N 4 S |

Wy .
L0 ayrgfemy STEOTE:
0 30-40 40-50 | 50-60 \60-70 '\

(b) Find the standard deviation for the following data:

Frequency 1 \3 J

QarO&sUuLHleTer Sreysetflsr S Lelss5mSS SITETOT &

o (ULl &6 (items) \ ZT? \ 2? \ SSJ

g [

(c) Fit a straight line to the following data:

n 1 2 | 3 \ 4
" 3 4 \ 6
FCaMEDL QuITmGHHI&:

1 2\3 4
1 3\:. 6

Aearsugnid STeNNES 2O G
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(c) A p}oblem in statistics 1S given to two students A and B. The
probability of A solves the problem jg > and that of B solves the

problem is 2 If the students solve the problems independently, find
the probability that the problem is solved.

(b)

A wimp B ey L) LTS ESEG Q@ Ustellaflar  samésE
Qan@esuueng. A el stanusheta Hepsssy 1/2 wHon B sl
sramusnsTar Hensdn 2/3. ks utenaisas sitelfmawns el
SO, Shs Sesdlsr afloL srmmughans Hepsea e ?
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